AyeFstol Uehw?

=
=

x+3+bE UHTA7S -



2 5
6(7 _5
376

® x+3
@ x-5

3 5
- eam
@ 3x-1

® 2x-5



3. xoll ¥ va F AL S EE W, o o FH2?

-3x+27T=6x,4x+a=38

@® -20 @ -4 ® 4 @ 20 ® 24



4. FEol7t HolA ET5te] A& 3km & 7R Zh=H F 1 ARt
30 o] At st zkx 9] A2l B km A7

@ 3km @ 4km ©) gkm

@ 5km ® %km



g

11
29



32 g4 9] ol & ot BHAolth @ HAgef o] 8H T
A-E 12H? (HF e>1)
2x+5 -
3 @
2x+5=—3:|
o
20=—8
R

® a=belAa+c=b+co|th
@ a=bolHa-c=b-colth

® a=b°|"H ac = bco|Tt.

Al
=1

9]



HEE E2VE LY ASAREZ0E, BSARE 40
ol A8, & 7I=3 B8 ¢ AR W= gl 1 A|7to] AL} A
FA AHgot] B2 A= o 2 2ol A=

1
D 208 @135%?_— ® 248
@ 36 &2 ® 50 &



gl

v =

5

A B7t

=
=

el

17 %

@ 17

=

— | ©



6% © 2T 300g & 7FEstH 1 Eol 5g
o] LS 15% 7} HEE sl g}

e
Sh=7F?
® 352 @ 36 2
® 186 &

@ 180 &



